THTEE ANIKAERR GRERIE)

BEREE%

D= Ok 4 - #EEN1)
HKERHR - R1.5.8 R1.7.3 R1.9.10 R1.11.6 R2.1.15 R2.3.4
FRKEFZI - 10:10 10:05 9:55 10:00 9:55 9:45

g HEEIEESR (mg/) - 1.1 1.0 1.5 1.3 1.0 0.98

h EHEMEESR (mg/2) - 0.11 0.041 0.034 0.032 0.047 0.052
WEMEERRUERBEZERE (mg/0) - 1.2 1.0 15 1.3 1.0 1.0
fi =

QBELAFE kiE%  HEE)ID
HKERR - R1.5.8 R1.7.3 R1.9.10 R1.11.6 R2.1.15 R2.3.4
KB - 10:50 10:35 10:20 10:35 10:30 10:05

mmEg HEEIEESR (mg/) - 4.0 2.9 26 28 22 3.1

b EHEMEESR (mg/2) - 0.29 0.052 0.016 0.035 0.067 0.079
WEEERRUERBEER (Mmg/Q) - 4.3 3.0 2.6 2.8 2.3 3.1
fi& =

QEDHLAE (Kizi 4 - HI#E)1)
HKEAR - R1.5.8 R1.7.3 R1.9.10 R1.11.6 R2.1.15 R2.3.4
FRKEEZI - 11:20 11:05 10:45 11:05 10:50 10:30

mEg HEIEESR (mg/0) - 3.9 3.1 3.0 3.6 2.7 32

b HIHRMESR (mg/2) - 0.18 0.030 0.013 0.030 0.077 0.055
E?;Eﬁ’fi%i&lﬁﬁﬁﬁ&’t&%j (mg/0) - 4.1 3.1 3.0 3.6 2.8 3.2
&
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@145 OkiZi4 : 4031

FKERH H31.4.17 R1.5.8 R1.6.5 R1.7.3 R1.8.4 R1.9.10 R1.10.2 R1.11.6 R1.12.4 R2.1.15 R2.25 R2.3.4
K 12:30 12:45 12:30 11:40 12:00 11:45 12:10 11:15 11:30 11:00 12:00 11:15
HRIH L (mg/2) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
eITY (mg/2) <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 -
£ (mg/2) <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
PN iZZ=P N (mg/2) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
it (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
#aIKER (mg/Q) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
PCB (mg/2) - - <0.0005 - - - - - <0.0005 - <0.0005 -
SHOQAEY (mg/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 B <0.002 B
mig bR % (mg/Q) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
12->4/00xT4> (mg/2) <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 -
1,1->HaaTFLY (mg/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
B [©X12-oH00IFLY (meg/) <0.004 - <0.004 - <0.004 - <0.004 - <0.004 - <0.004 -
B [111-r)5ooTas (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
B [12-FJ500Tss (mg/2) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
B [r)ZonzIFL (mg/2) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
Th3/O00IFLY (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
1,3->HaoyaRy (mg/2) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
FI5 L (mg/2) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
PSP (mg/2) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
FAR AILT (me/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
oty (mg/2) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
LY (me/2) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
e (mg/2) 0.05 0.05 0.05 0.05 0.06 0.07 0.06 0.06 0.06 0.06 0.05 0.06
F5% (mg/®) <0.02 <0.02 <0.02 <0.02 0.02 0.02 0.02 <0.02 <0.02 <0.02 <0.02 <0.02
HEE =R (mg/Q) 23 25 1.5 26 3.0 3.1 23 3.3 3.0 2.4 2.8 1.9
HIHREESR (mg/2) 0.047 0.082 0.009 0.017 0.020 0.015 0.008 0.014 0.024 0.037 0.020 0.010
WEMEERRUERBEER (mg/Q) 24 2.6 15 2.7 3.1 3.1 2.3 3.3 3.1 2.5 2.8 1.9
14-OF XY (me/2) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
£00mk)L L (mg/2) - - - - <0.006 - - - - - - -
F5UR-1,2-9001FLY  (mg/Q) - - - - <0.004 - - - - - - -
1,2->Hao7a/ss (mg/0) - - - - <0.006 - - - - - - -
p->HOaR EY (mg/9) - - - - <0.02 - - - - - - -
1IXYFAY (mg/Q) - - - - <0.0008 - - - - - - -
A7) (mg/2) - - - - <0.0005 - - - - - - -
JI=rOFAY (mg/Q) - - - - <0.0003 - - - - - - -
AV7aF45> (mg/2) - - - - <0.004 - - - - - - -
AX 8 (mg/2) - - - - <0.004 - - - - - - -
yoo420=)v (mg/9) - - - - <0.005 - - - - - - -
JREHSF (mg/2) - - - - <0.0008 - - - - - - -
EPN (me/2) - - - - <0.0006 - - - - - - -
SHOILKRR (mg/2) - - - - <0.0008 - - - - - - -
B [Zz/FANT (mg/2) - - - - <0.003 - - - - - - -
B [4FaRUkR (mg/2) - - - - <0.0008 - - - - - - -
#f |[pO)=kOJz> (mg/2) - - - - <0.0001 - - - - - - -
H |[FLTIY (mg/2) - - - - <0.06 - - - - - - -
= E (mg/2) - - - - <0.04 - - - - - - -
FAVEEY TF ALY (mg/2) - - - - <0.006 - - - - - - -
L (mg/2) - - - - <0.001 - - - - - - -
E)ITV (mg/2) - - - - <0.007 - - - - - - -
TFUOFEY (mg/2) - - - - <0.002 - - - - - - -
BIEEZILE/X— (mg/2) - - - - <0.0002 - - - - - - -
IF~Omery> (mg/2) - - - - <0.00004 - - - - - - -
EIVAY (mg/0) - - - - <0.02 - - - - - - -
>l (mg/Q) - - - - <0.0002 - - - - - - -
Jx/—I)L (mg/2) - - - - <0.001 - - - - - - -
RILLTIILTER (mg/2) - - - - <0.1 - - - - - - -
4-t-49FNI1/-) (ue/2) - - - - <0.0001 - - - - - - -
7= (ueg/?) - - - - <0.002 - - - - - - -
24-Yh0071/—) (ueg/9) - - - - <0.0003 - - - - - - -
fi&
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EIEE!

27 - R1.5.8 - R1.7.3 - R1.9.10 - R1.11.6 - R2.1.15 - R2.3.4
FRKEFZI - 12:00 - 11:10 — 11:00 — 10:30 - 10:30 - 10:45

g HEETEESR (mg/2) - 26 - 3.0 - 3.1 - 39 - 238 - 2.7

h HHEBEER (mg/2) - 0.041 - 0.010 - 0.009 - 0.013 - 0.016 - <0.005
REERRUVERBEZR (mg/Q) - 2.6 - 3.1 - 3.1 - 39 - 238 - 2.7
fi =

®©:EHE T AR OKIE S W)
HKERH - R1.5.8 - R1.7.3 - R1.9.10 - R1.11.6 - R2.1.15 - R2.3.4
FRIKEFZI - 11:00 - 10:30 - 10:30 - 10:00 - 9:50 - 10:15

mmEg |IRERIEER (mg/9) - 3.0 - 3.6 - 34 - 48 - 4.0 - 4.1

" FHEBEER (mg/2) - 0.019 - 0.005 - 0.006 - <0.005 - 0.013 - <0.005
WEEEERVERBIEZEE (mg/0) - 3.0 - 3.6 - 3.4 - 4.8 - 4.0 - 4.1
fi& =

@:ENE OKE4 - #nEE)1)
HKERR - R1.5.8 - R1.7.3 - R1.9.10 - R1.11.6 - R2.1.15 - R2.3.4
KB - 10:00 - 9:50 - 9:45 - 9:30 - 9:10 - 9:00

mmmEg HEIEESR (mg/0) - 44 - 4.7 - 43 - 6.2 - 53 - 5.9

b HIHRMESR (mg/2) - 0.012 - 0.012 - 0.008 - <0.005 - 0.016 - <0.005
WEEERRUERBEER (Mmg/0) - 44 - 4.7 - 4.3 - 6.2 - 5.3 - 5.9
fi& =

@ 1LHARE Ok £ - 1)
HKERR H31.4.17 R1.5.8 R1.6.5 R1.7.3 R1.8.7 R1.9.10 R1.10.2 R1.11.6 R1.12.4 R2.1.15 R2.2.5 R2.3.4
FRIKEFZI 10:20 9:15 9:30 9:20 9:10 9:05 9:15 9:05 9:10 9:05 9:30 9:00

REEE THERTEE=ER (mg/2) 3.1 3.1 3.8 42 48 4.4 46 5.6 47 3.6 4.0 3.9

h EHBEER (mg/Q) 0.40 0.40 0.73 0.28 0.66 0.093 0.51 0.22 0.29 0.31 0.24 0.34
RREERRUERBREZR (mg/2) 35 35 45 45 55 45 5.1 5.8 5.0 39 43 42
fi& e

@3hENE Ok - T
HKEAR - R1.5.8 - R1.7.3 - R1.9.10 - R1.11.6 - R2.1.15 - R2.3.4
HKEEZ - 12:00 - 11:30 - 11:15 - 11:45 - 11:25 - 10:50

mEEg HEIEESR (mg/9) - 5.4 - 5.5 - 4.8 - 6.9 - 55 - 6.5

b HHEHREER (mg/2) - 0.043 - 0.028 - 0.024 - 0.075 - 0.10 - 0.069
E?;E&ﬁ%i&lﬂmﬁ%ﬁ%f (mg/Q) - 55 - 55 - 438 - 7.0 - 5.6 - 6.6
&
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HKERHR H31.4.17 R1.5.8 R1.6.5 R1.7.3 R1.8.7 R1.9.10 R1.10.2 R1.11.6 R1.12.4 R2.1.15 R2.25 R2.3.4
FRIKEEZI 9:30 9:15 9:30 9:00 8:30 9:00 9:00 8:30 9:20 8:20 9:00 8:30
HRIH L (mg/2) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
2ITY (mg/2) <0.1 - <0.1 - <0.1 - <0.1 - <0.1 - <0.1 -
£ (mg/2) <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
PN =PN (mg/2) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
it (mg/Q) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
#aIKER (mg/Q) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
PCB (mg/2) - - <0.0005 - - - - - <0.0005 - <0.0005 -
SHOQAEY (mg/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 B
mig bR % (mg/Q) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
12->4/00xT4> (mg/2) <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 - <0.0004 -
1,1->HaaTFLY (mg/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
® SXi2-s>roozFLy (mg/2) <0.004 - <0.004 - <0.004 - <0.004 - <0.004 - <0.004 -
B [{i1-ryZo0Tsay (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
B [112-r)500T4Y (mg/2) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
B [r)poozFLy (mg/2) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
ThZoOOIFLY (mg/2) <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 - <0.0005 -
1,3->HaoyaRy (mg/2) <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 - <0.0002 -
FI5 L (mg/2) <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 - <0.0006 -
PSP (mg/2) <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 - <0.0003 -
FAR AILT (me/2) <0.002 - <0.002 - <0.002 - <0.002 - <0.002 - <0.002 -
oty (mg/2) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
LY (me/2) <0.001 - <0.001 - <0.001 - <0.001 - <0.001 - <0.001 -
e (mg/2) 0.06 0.06 0.06 0.05 0.05 0.06 0.06 0.04 0.04 0.04 0.04 0.05
F5% (mg/®) 0.03 0.02 0.02 <0.02 0.02 0.02 0.02 <0.02 0.02 <0.02 <0.02 0.02
HEE =R (mg/Q) 3.0 27 238 5.0 35 47 49 6.6 6.7 3.3 1.4 5.2
HIHREESR (mg/2) 0.054 0.037 0.023 0.065 0.034 0.032 0.025 0.034 0.086 0.055 0.027 0.058
WEMEERRUERBEER (mg/Q) 3.1 238 2.8 5.1 35 4.7 49 6.6 6.8 3.3 15 5.2
14-OF XY (me/2) <0.005 - <0.005 - <0.005 - <0.005 - <0.005 - <0.005 -
£00mk)L L (mg/2) - - - - <0.006 - - - - - - -
F5UR-1,2-9001FLY  (mg/Q) - - - - <0.004 - - - - - - -
1,2->Hao7a/ss (mg/0) - - - - <0.006 - - - - - - -
p->HOaR EY (mg/9) - - - - <0.02 - - - - - - -
1IXYFAY (mg/Q) - - - - <0.0008 - - - - - - -
A7) (mg/2) - - - - <0.0005 - - - - - - -
JI=rOFAY (mg/Q) - - - - <0.0003 - - - - - - -
AV7aF45> (mg/2) - - - - <0.004 - - - - - - -
AX 8 (mg/2) - - - - <0.004 - - - - - - -
yoo420=)v (mg/9) - - - - <0.005 - - - - - - -
JREHSF (mg/2) - - - - <0.0008 - - - - - - -
EPN (me/2) - - - - <0.0006 - - - - - - -
SHOILKRR (mg/2) - - - - <0.0008 - - - - - - -
B [Zz/FANT (mg/2) - - - - <0.003 - - - - - - -
B [4FaRUkR (mg/2) - - - - <0.0008 - - - - - - -
#f |[pO)=kOJz> (mg/2) - - - - <0.0001 - - - - - - -
H |[FLTIY (mg/2) - - - - <0.06 - - - - - - -
= E (mg/2) - - - - <0.04 - - - - - - -
FAVEEY TF ALY (mg/2) - - - - <0.006 - - - - - - -
L (mg/2) - - - - <0.001 - - - - - - -
E)ITV (mg/2) - - - - <0.007 - - - - - - -
TFUOFEY (mg/2) - - - - <0.002 - - - - - - -
BIEEZILE/X— (mg/2) - - - - <0.0002 - - - - - - -
IESOQERYY (mg/2) - - - - <0.00004 - - - - - - -
EIVAY (mg/0) - - - - <0.02 - - - - - - -
>l (mg/Q) - - - - <0.0002 - - - - - - -
Jx/—I)L (mg/2) - - - - <0.001 - - - - - - -
RILLTIILTER (mg/2) - - - - <0.1 - - - - - - -
4-t-49FNI1/-) (ue/2) - - - - <0.0001 - - - - - - -
7= (ueg/?) - - - - <0.002 - - - - - - -
24-Yh0071/—) (ueg/9) - - - - <0.0003 - - - - - - -
fi&
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DY T 48 (Okigi % - BRI
KER R

27 - R1.5.8 - R1.7.3 - R1.9.10 - R1.11.6 - R2.1.15 - R2.3.4
FRKEFZI - 10:25 - 10:05 — 10:00 — 9:00 - 9:30 - 9:30
g HEETEESR (mg/2) - 5.2 - 5.3 - 47 - 7.1 - 5.2 - 8.1
0 EHBEESR (mg/2) - <0.005 - 0.028 - 0.018 - 0.016 - 0.075 - 0.018
MREEERVEMBIEER (mg/0) - 5.3 - 5.4 - 4.7 - 7.7 - 5.2 - 8.1
fi =
Q& FHREBOKEA : FEID
BKEAR H31.4.17 R1.5.8 R1.6.5 R1.7.3 R1.8.7 R1.9.10 R1.10.2 R1.11.6 R1.12.4 R2.1.15 R2.2.5 R2.3.4
FRKEFZI 9:55 8:40 8:45 8:35 8:35 8:40 8:40 8:35 8:35 8:35 8:50 8:30
REEE HEBEESR (mg/2) 5.6 6.3 6.3 76 8.1 6.2 8.3 9.8 10 15 85 15
" EHBEER (mg/2) 0.18 0.12 0.24 0.064 0.048 0.025 0.053 0.017 0.042 0.16 0.12 0.077
WEMEERRUERBEER (mg/Q) 5.8 6.4 6.5 7.7 8.2 6.2 8.4 9.9 10 7.6 8.6 7.6
1 =
DEBUEERRVEBBREZEZOHFELTOETS,
mEE
@18 OKiEi4 : g
HEFEAR - - - - - - R1.10.2 - - - - -
RIERZI - - - - - - 12:10 - - - - -
DRI YL (mg/kgBzifE) - - - - - - 0.1 - - - - -
£h (mg/kgBZifE) - - - - - - 8.0 - - - - -
7i=VN (mg/keRZIE) - - - - - - 18 - - - - -
K |ANEZBEL (mg/keBZiE) - - - - - - <0.6 - - - - -
e (mg/kgBzifE) - - - - - - 11 - - - - -
#aok 4R (mg/keBZiE) - - - - - - 0.02 - - - - -
B [FrxikeE (mg/kegBsiE) - - - - - - <0.01 - - - - -
PCB (mg/keBZiE) - - - - - - <0.01 - - - - -
BEBE (%) - - - - - - 15 - - - - -
Koy (FEIRRE) (%) - - - - - - 20 - - - - -
fi =
045 Ok £ - EID
HEFEAR - - - - - - R1.10.2 - - - - -
RIERZI - - - - - - 9:00 - - - - -
HRI DL (mg/keFZiE) - - - - - - 0.1 - - - - -
£ (mg/ke&ZiE) - - - - - - 15 - - - - -
ZA=FN (mg/keBZifE) - - - - - - 20 - - - - -
K |ANEZEL (mg/keFZiE) - - - - - - <05 - - - - -
it (mg/ke&ZiE) - - - - - - 8.9 - - - - -
#aIKER (mg/ke&ZiE) - - - - - - 0.06 - - - - -
"B [FrxikeE (mg/keB2iE) - - - - - - <0.01 - - - - -
PCB (mg/keFZiE) - - - - - - <0.01 - - - - -
BEBE (%) - - - - - - 3.2 - - - - -
Ky (FriREE) (%) - - - - - - 18 - - - - -
1 =
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